Honors
Trigonometry

EXAM
CHAPTER 3

No Homework again!
... and to think we get

honors credit ...
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Read ONLY: Pgs109-114
and pgs 122 - 125
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Find the value of each of the following:

a) cos 122 b  snti 0) sin'1 d cos'(-1) e cos(cos'l %) f) sin
) cos(si n_l(— g)) h) S n(cos_l(— 1—53)) i) arcsin(sin3) )] arccos(cos5)
Determine aLL valuesof u such that: a) (\F) =u b) (\G)Z =u

-1\ _ -1 _ Y e .1y _
c) cos(cos u) =u d) cos “(cosu) = u e sm(sm u) =u f) sin “(sinu) =u
a) Pg 121 problem 22  b) When isthistrue? csc x = Wlx C) Determine sin - X = ¢sc ?
d) complete: cos(tan_1 u) - Simplify: S n(si n* = +tan B %) %

13939 —-12./313
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f  Simplify: cos(tm_l%+gn‘l%)

a) Do page 126 problems 25, 26, and 27

b)  verify: (youmay work withbothsides): (1) cot x=tan'1; x>0 (2 tan’x=Z-cot?x ;x>0
C) Trueor false? : cot ' x = tan_1§ +71; x <0 (Hint: graph a(x) = cot™x and b(x) =tan x on the same axis.)
Explain.

Determine aLL values of u such that:

a) tan(tan'l u) =u b) tan (tanu) = u c) csc (cscu) = u d) csac(cs:c“l u) =u

e szec(szec_1 u) =u f) sec Y(secu) = u Q) cot(cot'l u) =u h) cot *(cotu) = u



